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Term End Examination, 2018 

Group A 

Paper II 

Business Mathematics 

Time: Three Hours] [Maximum Marks: 75 

Note Answer all questions. The figures in the right-

hand margin indicate marks. 

61/Unit-I 

1. (a)x4T9 4h1 ifYq 1 

e-1 

Differentiate with respect to *: 

e-1 

JDB_78_x_(8) (Turn Over) 



(2) (3) 

If log 3 = 0.4771, then find the value of 

log V729xvg-I. 

/Unit-II 

4T ? 8 
2. 

What is the difference between A company charges 7 550 for a radio set 

on order of 50 or less sets. The charge is determinant and matrix ? 

reduced by F5 per set 
ordered in excess of 50. Find the largest 
size order the company should allow so 

for each set (6) HTTY 
8 

3 
2 5 4 

6 o 

as to receive a maximum revenue. 

7YT/OR 

tfg Solve the determinant by Sarrus Rule: 
1 

3 1 
|2 5 4 

6 0 
2.415+(0.824)* 

Find the value with the help of logarithm 
tables 

TYT/ODR 

2.415-(0.824) 15 A2 T AB 1 HTH ifTg zf : 
(b) af log 3 0.4771 3 2 

A =| 1 2 3. B=-1 0 1 

Lo 0 3 

[2 3 4 

log 729x9-1 A ifTu 

JDB_78_*_(8) (Turn Over) 
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(4) (5) 

a profit of 7 50 and a chair at a profit Find the value of 4 and AB if: 

of 15. Assumming that he can sell all 

pieces that he buys, prepare linear 
programming problem to determine the 
number of pieces of each type to gain 
maximum profit. 

4 [I3 2] 2 3 

A=1 2 3 B=-1 0 1 
o o 3 

0/Unit-111 
7eYTOR 

7 
3. (a) tta y54 I E? FH H6 FI 7 

(a) 71, 50 aT 25 tà 
tr 4: 4:5:6 3TUA ËI F What is Linear Programming? State its 

mportance. 

1 

In a cash-box there are coins worth 7 64. 

The coins are 1, 50 paise and 25 paise 
as per ratio 4:5:6 respectively. Find the 

total number of coins of each 50 I VT 50 aTY 
denomination. 

8 

8 The price of a diamond varies directly 
with the square of its weight. If the price 

of diamond weighing 32 carat is 7 400, 

then find the price of another diamond 

weighing 54 carat. 

A seller buys some table and chairs. He 

has 5,000 to invest and a space to store 
at most 60 pieces. A table costs him 
250 and a chair 50. He sells a table 
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(6) (7) 

A machine costs 750,000 and its effective 

life is estimated to be 10 years. If the scrap 

what amount 

T/Unit-Iv 

4. (a) HTTUT 
7 q realises 5,000 only, then 

should be retained out of profit at the end of 

each year to accumulate at 5% per annum 

with compound interest for 10 years to replace 

the machine by another one costing T 50,000 

only ? 

fie 
A certain sum at simple interest becomes 

F1,200 in 2 years and F 1,300 in 3 years. 
Find the principal and rate of interest per 6/Unit-V 3. 

5. (a)4 3THT 3T 16 af annum. 

a 20 a i 7 3,000 TT? 

Which sum of money will become 1 fuaT 3T HTI 
3,000 in 20 years at compound interest 

rate 5% per annum ? 
The average age of 4 children is 16 

years. If their parents age are taken into 

account, the average age increase by 9 

years. Find out the father's age if 

mother's age is 40 years. 

7YT/OR 

(b) 20 aKJT f44 25 kq 

5,000 &7, aA7 f Gy 3444 Y 
8 

The selling price of 20 articles is equal 

to the cost price of 25 articles. Find the 

gain or loss percent. foy Fs0,000 Td 
15 HNT/OR 
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(8) 

(a) ETA vH41 7T 6% 

28,560 34q1 7 I HATA a 
7 

An agent sells a house and after 

deducting 6% brokerage pays F 28,560 

to the owner of the house. Find the cost 

of the house. 

(b) ft 
TEfFi, 75% à TT 62% 

afai 3tuf tr 342 

8 

Of the candidates in an examination, 
37% were girls, 75% are the boys and 
625% of girls passed and 342 girls failed. 
Find how many boys failed. 

JDB_78 _(8) 
2,340 
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